_EXAMPLE:

CREATEYOUR OWN WORD PROBLEM

Qriginal Word Problem (2 points)
lex's u:! 1§ 40 Sell ¥100 worth of
1cKets M The schoel play. “Thetickets

are 4 fr students and 410 for

wldts.
W studend Hickets does he need
: fmai he sells b adult ticKets!

Create and Equation (3 points) and Solve (10 points
Standard Form: ‘4,{1- ,oy =00 }
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Slope Intercept Form:
Y= 10— 4x
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olve: \ '
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4x+10(b)=100

Graph (3 points
¥ Use So :%«c%}:irmﬂ graph¥ = (00 x=40
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of® 4x = 40 X=10
Q{i\;\d‘"&s" Draw a picture to illustrate (2 points)
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